
with allowed-height-scale="60% 80% 110% 130% any"

[1] src="img/calc-1.png" height="8cm" content-height="scale-to-fit"
[1] (scale-to-fit) scaling = 110%

[1d] src="img/calc-1.png" height="8cm" content-height="scale-down-to-fit"
[1d] (scale-down-to-fit) scaling = 100%



[1u] src="img/calc-1.png" height="8cm" content-height="scale-up-to-fit"
[1u] (scale-up-to-fit) scaling = 110%

[2] src="img/calc-2.png" height="8cm" content-height="scale-to-fit"
[2] (scale-to-fit) scaling = 80%



[2d] src="img/calc-2.png" height="8cm" content-height="scale-down-to-fit"
[2d] (scale-down-to-fit) scaling = 80%

[2u] src="img/calc-2.png" height="8cm" content-height="scale-up-to-fit"
[2u] (scale-up-to-fit) scaling = 100%



without allowed-height-scale

[3] src="img/calc-1.png" height="8cm" content-height="scale-to-fit"
[3] (scale-to-fit) scaling = 116%

[3d] src="img/calc-1.png" height="8cm" content-height="scale-down-to-fit"
[3d] (scale-down-to-fit) scaling = 100%



[3u] src="img/calc-1.png" height="8cm" content-height="scale-up-to-fit"
[3u] (scale-up-to-fit) scaling = 116%

[4] src="img/calc-2.png" height="8cm" content-height="scale-to-fit"
[4] (scale-to-fit) scaling = 95%



[4d] src="img/calc-2.png" height="8cm" content-height="scale-down-to-fit"
[4d] (scale-down-to-fit) scaling = 95%

[4u] src="img/calc-2.png" height="8cm" content-height="scale-up-to-fit"
[4u] (scale-up-to-fit) scaling = 100%


